Beutel 1 Ord.No.3323

Bag 1

3x 90055 M3x8

Technische Anderungen vorbehalten / Subject to technical changes 03. April 2018



Ord.No.3323 ik -

pyro800/40

3308/11 Motor
3308/17 Regler

Ord.No.

604/41 200 XL
90548 3,7x10,3
90385 M4 x4
90145 M4 x 10
90062 M3,5x8
808-59

500/20 16-Z.
139-60

0s.No. enge |

=] lo|o|<|elo

el Bt e LS B N LY o

03. April 2018 Technische Anderungen vorbehalten / Subject to technical changes



Beutel 3
Bag 3

Technische Anderungen vorbehalten / Subject to technical changes

Ord.No.

90990 8x 14 x 0.5

90980 8x14x0,3

90545 3,2x9

90065 M3x10

641-54

55-2 8x19x6

Ord.No.3323

03. April 2018



Ord.No.3323 il -

2x 90062 M3,5x8

__|2x 90065 M3x10|

2x 90548 3,7x10,

(2x 90545 329

03. April 2018 Technische Anderungen vorbehalten / Subject to technical changes



